vizsgazo sorszama:

PROFEX SZAKNYELVI VIZSGA

B2 (ké;épfok) —angol nyelv
Szobeli MINTATESZT

Beszédérteés

Oldja meg a ket feladatlapot a hallott szoveg alapjan. Elérhetd pontszam: 20 pont.

Figyelem! A vizsga akkor lehet sikeres, ha a vizsgazo részegységenkeént legalabb 40%-ot teljesit.
Végsé megoldaskeént csak a tintaval irt valtozatot fogadjuk el.

Kérjiik, hogy jol gondolja meg a valaszat, mivel barmilyen vdlaszmodositas esetén vdlasza
ervénytelen.

FELADATLAP

1. szoveg — feladatlap

|. Karikazza be az egyediili helyes valasz betiijelét a hallott szoveg alapjan! Az elsot példaként
megoldottuk. Elérhetd pontszam. 5 pont

0. The referendum asked:
A Should Scotland become an independent country?
B Should Scotland remain part of the UK?
C Should Scotland be granted more devolution?
D Should Scotland become a republic?

1. The results of the referendum were the following: the opponents of independence won
A. by a narrow margin.
B. by 54.7 % to 45.3%.
C. by 55.3% to 44.7%.
D. by 15% of the votes.

2. Alex Salmond
A. won his campaign.
B. wants Scotland to continue to fight for independence.
C. does not want to accept defeat.
D. asked all of Scotland to accept the results of the referendum.

3. The failure of the referendum may be explained partly by the fact that
A. the campaign eventually lost the support of the majority of Scottish people.
B. the pro-independence campaign has never convinced voters that it had the
support of a majority of Scots.
C. financial markets reacted neutrally to polls showing the pro-independence
campaign gaining ground.
D. alarge majority of voters thought that independence was too financially risky.
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4. The independence referendum was also motivated by the fact that
A. Scottish leaders wanted to push for more independence in order to pursue a more
liberal political agenda.
B. Scotland wanted to become wealthier and more populous.
C. Scotland had to be freed from oppression.
D. Scotland wanted to regain its lost pride and beliefs.

5. “Devo-max” means
A. full independence.
B. that the main UK party leaders promised Scotland greater autonomy in the field of
healthcare.
C. that the Scottish Parliament will be given control over most of the reserved matters.
D. that the Scottish parliament will also control foreign policy and national defence.

|. A hallott szoveg alapjan egészitse ki az alabbi mondatokat! Egy iires helyre maximum
harom szot irhat! Az elsot példakeént megoldottuk. Elérheto pontszam: 5 pont

(0) Devolution is already a point of contention in UK politics, because England doesn't have

its (1) , While Scotland, Wales, and Northern Ireland do.

English policy is set by the (2) . Scottish MPs get to vote on
matters of English policy, but English MPs don't get to vote on matters that have been (3)
Scotland.

Conservative MPs demand that this question (4) before

further devolution is granted.
There probably won't be another independence vote, as Alex Salmond will not pursue another

one if independence failed to (5)
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2. szoveg — feladatlap

L. A hallott sz6veg alapjan egészitse ki az alabbi mondatokat! Egy tires helyre maximum ketto
szot irhat! Az elsot példakeént megoldottuk. Elérheto pontszam: 5 pont

The constitutional amendment will help (0) ensure that the courts are guided to make

decisions that are in the (1) of the child. Over recent years there

have been cases involving neglect and (2) of children. This is

Ireland’s opportunity to (3) from this legacy. Ireland (4)
the UN Convention on the Rights of the Child in 1992. The UN
Committee on the Rights of the Child examines (5) made by

countries.

Il. 4 hallott szoveg alapjan egészitse ki a tablazatot a hianyzo informaciokkal! Az elsot
példakeént megoldottuk. Egy iires helyre maximum négy szot irhat! Elérheto pontszam: 5 pont

Problems relating to the a) 25,000 cases of (0) child abuse annually

protection of children b) over 90,000 children live below the poverty line

c) over 23,000 children are on waiting lists for (1)

d) over 150 children are admitted into adult wards because
of (2)

Four ways in which the a) The amendment will serve as the foundation stone.
amendment will improve b) All children will be (3)

children’s rights
c) Children will be able to be adopted by (4)

d) It will help the (5) keep
families together.




